MAS FORGSE 110OR
MAS FORGE 1R
MAS FORGSE 112R

User Guide
& B ¥ fit



Contents / B %

Accessories /BB ... 3
Specification / BEERFRRE ..o 4
Case Features / BERRAFE ..ot 5
Side & Front View/ IEIFIATEL......c..ovvveverreeeeeeeieees et 6
10 Panel/ 10 TR -...coorrveeeeeeeeeeeeeeee e 7
SSD, HDD Installation/ SSD MBERRZEEETTT ..o 8
Opening the Left & Right Side Cover/ BARRAEBRRIIR ........cooovvrriirccrs 9
Motherboard Installation / ZEEFEHERR ......oooorvevcvci e 10
Graphics Card Installation / ZEEBETR T ...oooovovecceeeee e 1
PSU Installation / ZEEBIRMEIERR .......ccoooovvvcecccee e 12
Control Board Specification / #ZEHIAMRERRE ....oooovoi 13

ARGB Fan Connection /3 ARGB JE ......o.oveveeeeeeeeeeeeeeeeeeeeeeeeeeeeee e 14



Accessories / Fgff

ltem IEH

Name #78/ Q'ty $E Used for &
Cable ties Cable management
R Bl
x5 )

Screw #6-32 10mm

Securing drive tray
FHEH R

@ Bm Screw #6-32 6.5mm Motherboard Stud
x4 FHERIRAE
Screw M3 5mm Motherboard / SSD
x20 FHHR / SSD
e @m S e PSU / PCle Card
O i x6 EBIRILAESS / PCle £
Screw #6-32 5mm
3.5" HDD
TEIR4
® i

1to 3 fan splitter cable

18 3 BB DR Connect 3 fans
X1 % 3 EER

(MAG FORGE 112R only)




Specification / BRI

ze
R

Mid-Tower

Fan LED Cont
&R LED Eﬁ]*ﬁ

1to 6 ARGB (3 pin) Control Board (MAG FORGE 111R / 112R)

Pre-Installed Fan

REER

MAG FORGE 110R/ 111R
Rear: 1x 120 mm ARGB fan

MAG FORGE 112R
Rear: 1x 120 mm ARGB fan
Front: 3x 120 mm ARGB fans

Material

ME

Chassis: Steel (SPCC 0.5 mm) ( #RIME )
Right Side Panel: Steel [ A fAI$E1R )
Front Bezel: Plastic + Mesh [ BIEI2EAE + 1&#48 )

MAG FORGE 110R
Left Side Panel: Transparent acrylic ( Z{8;%ERBEETE 17 )

MAG FORGE 111R/ 112R
Left Side Panel: Tempered glass ( I3 L3S )

Dust Filters
g4

Top: Magnetic frame dust filter PVC mesh ( TE#B PVC BEMAERS
B )
Bottom dust filter [ FFAEERAH )

Fan Support

Top: 2x 120 mm / 2x 140 mm
Front: 3x 120 mm / 2x 140 mm
Rear: 1x 120 mm

Drive Bays

3x2.5” SSD mounting brackets (1 SSD tray & 2 with screw
only) (118 SSD #E & 2 {EHEHIRAA )
2x3.5" +2.5" combo HDD tray

ion Slots

Supports 7 expansion slots [ 321 7 {E#7EHE )

10 Panel
10 EiR

1x LED switch button

2x USB 3.2 Gen1 Type A ports
1x Mic-in jack

1x Line-out jack

1x Reset button

1x Power button

Radiator Support
SHERKISHE

Top: 120/ 240 mm
Front: 120 / 140 / 240 mm
Rear: 120 mm

Clearance

i

CPU Cooler Height: Max 160mm (6.3 inch)

Graphics Card Length: Max 330 mm (12.99 inch)

PSU Length: Standard ATX 160mm (6.3 inch)

Max 200 mm (7.87 inch) without 3.5” HDD tray installed

Case Dimensions
BRERT

409(D) x 214(W) x 485(H) mm
16.1(D) x 8.43(W) x 19.09(H) inch

Motherboard Support
SEEWR

ATX/ M-ATX/ ITX




Case Features / #3545




Side & Front View/ {8 E#1#6 &

409mm

214mm

396mm

210mm

[ oo

wwggy




10 Panel / 10 EtR

((6ecocecoseccosoconsscsse

© 666086 8000000000O0O0O0C

©000O0O0O0OO0OOOOOOOOO O C

000006 0Q@D0O©O000dD0O0aC O C
©0G 0000006600006 080 0«

©000OO0OOGOG®S 6 00O OQG® 0 O C

00 000O00®©O0&O09 080080 0«

000 OOD0OODR@O0®© ®d0O0O00 0 &
© 9 000©O0O60®20606000OO9 0 O C
000G 9©00©G0B60006O6 6000 ¢
006 ©0006800066©000G6 8¢
©0 0006000060000 6 000 <
© 000008 000090000 e 000 ¢
00 06©000®8e 0500600260 000608 0«
0906000 ®O000068 006 80 0 cC
00 0000090000008 8008 @ ¢
0C00O0OOO0OO0OOO0S© 6000 OO0 G-
©000O0O0O0OO0OOODOGOOOO O C
0 00000DOOOOOOOOOOO0O0 ¢
0 000000O0OO0O0OOOOOOOO0O0C
OO0 0 0ODOS®O©CD 66806085 06 6 0 ¢
©6 6 ©66 000000000000 C
e ccocco00c00860000660006060 6 ¢
© 300000000000 ODOO® O C

©000DO0OO0O0ODO0OO®Od®D®O0O0O0 0 O C

06 000©00O00®BOO6 660606 6 6 ¢

\\(c°c00000000000000000c¢

&

il
i
©
©
%)

oo s W

LED switch button / LED #u$#25R
USB 3.2 Gen 1 Type-A
Mic-in / EsRE#A
Line-out / Esf&it

Reset button / BRI ILH
Power button / BiR#% R




SSD, HDD Installation/ SSD FTEfER IS




Opening the Left & Right Side Cover/ BIR{AE A IR




Motherboard Installation / 3£ £ i1k




Graphics Card Installation / REEEE TR+




PSU Installation / REEEF{LESS




Control Board Specification / ¥ 5§78

50 x 30

DC5V Addressable RGB LED

4% LED #85

1x LED switch connector (LED $%##%58 )

1x SATA power connector (SATA BRI )

= 1x MSI motherboard JRAINBOW connector [ #2 iR
1% JRAINBOW $55 )

6x 3-pin ARGB LED connectors (3 # ARGB LED #%88 )

Connectors

ARGB Pin Definition

ARGB #HIES

Ground Data +5V

LED effect cycle: LED MRBIR:

1. Rainbow 1. T

2. Seven-color trailing 2. tEBiER

3. Seven-color gradient 3. @S

4. Violet 4ORE

5. White 5. 808

6. Blue 6. EE

7. Cyan 7.5

8. Green 8. &8

9. Yellow 9. &

10. Red 10. 4168
LED Effects 11. Rainbow breathing 1. FATIFIR
(1 short press the 12. Red breathing 12, ATEIFIR
LED switch) 13. Yellow breathing 13. IR

14. Green breathing 4. 43 EBIEIR
LE_D i 15. Cyan breathing 15. 5 BIER
(#3#% LED #8 ) 16. Blue breathing 16, EEIFR

17. White breathing 17. B &M

18. Violet breathing 18. REBIEIR

19. Fixed rainbow 19. BIERAL

20. Red 20. 418

21. Yellow 21 &

22. Green 22. 4B

23. Cyan 23. 56

24. Blue 24, BEEB

25. White 25. A&

26. Violet 26. R




ARGB Fan Connection / &} ARGB R

LED switch control description: (
1. Short press the LED switch once to switch the LED effect

2. Press and hold the LED switch for 3 seconds the LED flash white light once,
and then into the MSI motherboard Mystic Light synchronization mode.
Short press once to back to the Hub control mode.

3. Press and hold the LED switch for é seconds to turn off the LED. ,

- ’

ARGB Fan
ARGB B3

SYS_FAN

N

ARGB Fan -l
ARGB A&
=|=—> T
SYS_FAN
ARGB Fan
ARGB A&

' ),
==L =i

SYS_FAN
11
@ Note /5 SATA Power ‘
SATA B

e Support up to 128 LEDs, Exceeding this limit will
lead to overheating, abnormal color or no light.

o RASZIE 128 B LED, HBBIUIREEEEHBE. QY
#B. 7% < “=




2. RIZLEDIRSA3TIE > EBHEPIME—R B e RBIEATHE TR
Mystic LightR$ 1R 52— iR o] B 4R e i IR = o
3. M{ELED#ZER6FV S R] BARALED

ARGB Fan
x ARGB E&

D LED Switch ( LED3%$RiZ53RE8:
LED #%48 1. SR LEDIZER A L EDR R

( ))

ARGB Fan
ARGB EE

T B
- N sys_FaAN

ARGB Fan
ARGB B &

: =
)
===

SYS_FAN

|

[T
Connect to the MSI motherboard JRAINBOW connector
EIEEIRE AR JRAINBOW 288



	Accessories / 配件
	Specification / 產品規格
	Case Features / 機殼特色
	Side & Front View/ 側面和前面
	IO Panel / IO面板
	SSD, HDD Installation/ SSD 和硬碟安裝方式
	Opening the Left & Right Side Cover/ 開啟左右側板
	Motherboard Installation / 安裝主機板
	Graphics Card Installation / 安裝顯示卡
	PSU Installation / 安裝電源供應器
	Control Board Specification / 控制板規格
	ARGB Fan Connection / 連接ARGB 風扇

